10.1 Goodness of Fit

The chi-square goodness-of-fit test is used to test whether a frequency distribution fits and expected distribution.
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, test the claimed distribution.

For any GOF tests, always use the following null and alternative hypotheses.


[image: image2.wmf]0

H

: The distribution fits the claimed distribution
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: The distribution does not fit the claimed distribution.

Critical Value from the Chi-Square Distribution
d.f. = k-1 = 6-1 = 5

Critical Value: 
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= 15.086

To find the test statistic:
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O= Observed Values

E= Expected Values

To get your expected values, use the percentages from your claimed distribution and multiply each by n.




   Expected Values

Classical
.04 *500= 20

Country
.36* 500= 180

Gospel

.11 *500= 55

Oldies

.02*500 = 10

Pop

.18*500 =90

Rock

.29*500 = 145
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.  The distribution of music preferences does not fit the claimed distribution. 
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